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AT THE END OF SIXTH SEMESTER (CBCS
PATTERN) DEGREE EXAMINATIONS

ELECTIVE - (A)

SOCIAL WORK - VI(A) - FIELDS OF SOCIAL

WORK

(From The Admitted Batch of 2015-16)

Time : 3 Hours Maximum : 75 Marks
SECTION - A
dgrfo - @
Answer five of the following. (5x10=50)
1. a) What is elderly? And Explain the problems of

120

b)

elderly?

HTpBs0 OSTI? ey $So5eH DBBoNR?
(OR/Scr)

Explain the socio and economic conditions of

elderly?

)Ty o0, B8 H0/HODH DHBOS0A?

Explain the services extended by institutional

organizations to the elderly?

PfodH D SoPes wodod SoprE BB HBoD

DNBO0HA0?
(OR/3cr)
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b)

b)

b)
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How a social worker can help to the elderly?

a8 ErdE 588 HheoH dDFore SEAHBEm?

What do you understand by the term a challengeg
person and explain its classification?

DerorHth wITIM? egn @) $886m HBoY
[P0l ?

(OR/Ecw)

What do you understand by blindness and explain
its causes and consequences.

VOLE0 OITIW? ©o5E08 Ko seleren BN
DOSHITHTReD K8y tavcma"m?

What are the services are being extended by the

Non governmental Organizations to the differently
abled people?

8ot SO 08 (Heods Bogen @bk DI
850 JiSen Km0y (echol?

(OR/8w)

How the social workers can help the differently
abled people in the society?

Nre06® Jogmey SGEGe Jexo KOAN 268 DKo

- SSFAHBEKeE?
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a) Explain the welfare services to the labour being
offered by the government.
SQRHOLH (HeHEo ©odRK) DG $oBH DO
DXBoWoR?
(OR/8cr)

b) Explain the problems of agricultural and Non
agricultural labour?

BB, BgBI DS SO Do) SHodges
DRX8oP0&?

SECTION-B
dgrio - D
Answer any Five of the following. (5x5=25)

Constitutional rights of elders?
RO Toesgor DEFS SeEpen.
Abuse of elder people.

ST Syt e,

Causes of blindness.
©058xIE Ko sPeen
Agriculture labour.

HSPah sEHen
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10.

11.

12.

13.

4

Deaf and dumb.

DG, o

Causes of Mental illness.
B Borstd Ko sederen
Social worker.

JSrRE SBES

Concept of Industrial labour.
&6@'8)35 9&3&‘96 gD,
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